Calculus ABC Test Iu—-\?'ersi Name: t<ﬁ \.lf

Lecture section: Student Number:

PUT ANSWERS IN BOXES. NO BOOKS/NOTES/CALCULATORS. DO YOUR OWN WORK.

Simplify answers where possible. Include units where needed. All angles are in radians. log = log,,.

1. Simplify by combining using a common denominator:

Iz T fox z
g "8 € q
2. Simplify as far as you can:
y+1 (D) i
Y +oy+4 §au)Yyeh) Yy
3. Solve for z:
il ¥ =144
ﬁ = L X = i |
4. Solve for t:
olve tor 3*[r3+g}=e) 3t qt + 6= & _
Ot gt--6 t= %
£~ "%
5. Solve for x:
1 2
e X7 o (%
Lx & x ik » (é” )
ot 3 3
6. Find the equation of the line through the point (1,7)
with slope 1 in slope-intercept form.
\J= X+6
y-1-= | (x~1) Yy=x+b }

7. Factor: 2t2 -t —1

E2RD ol (24«1 )-1)

8. Find the value of:

S Zov 1
Cos (E%T) e D, ref &0 /2_,
9. Find the value of:
_ 28"
¢ (2_“') 2- I':ul, wef 60 —_ 13
3

10. Find the value of a:
Sin % ;": /3 a= /L
- a
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11. Find the value of esc(8):

2t c&cg‘:l'-AE
Smb 7

Y425 =%
A-x" x= {29 5

L

1

12. Graph the function y = cos(z) for —7 < z < 7. s i Ty 1) "'"-'I'”""fh = (.‘Z-;“)
Label with the following values (if applicable): each inter- i‘“‘f"‘} /"-\ (o, D
cept, location of each asymptote, and (z,y) coordinates ) f’ ) i {‘K,aj
of each min and mazx. '_/X el % T
13. Simplify and eliminate any negative exponents:
(5) D e z
14. Simplify and eliminate any negative exponents:
5. g\ =1/ ¥ = ;L“ ——?;;‘.,i—
(#°) 7 XTY T sy X2y
15. Solve for x (write answer as a rational number):
x Y
=16 (2°) ~2 x='%
Ax= Y = ‘E
16. Solve for z: e (3 St
3=z __ = = ..__g-—ﬂ
i.ﬂj.S(s‘ﬂ ‘-lnﬁl’l 9 = 1eqs o
2-x=logd o a. legd
(3-¥) loaS = oo™ 1595 Pty x= 3l
17. Graph the function y = —2z + 2. \ ml’crufba (o,2)
Label with the following values (if applicable): each in- \ Lyed
tercept, slope, and (,y) coordinates of vertex: ] 5‘-'-0?& I wme -2
‘-F » T

18. Graph the function y = 3 — z°.
Label with the following values (if applicable): each in-
tercept, ngpe, and (x,y) coordinates of vertex.

19. Find the area of a triangle which has base 2 mm and
height 5 mm.
P 1pl = LRXs) = §

20. Find the volume of a sphere of radius 3 cm.

V= B = 4x(3) - 36
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